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sin (1 + sin 20)
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6. 7 tand n sin 6 + cos 6 ( )
A S B, 2 = p. ¢
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A WHEAREE z1, 29, 2, HIXHBIREIFEALIE v, 92000 HP Yy = 24+ ¢

(1=1,2,--,n) AAEZTFLH, N ( )
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a,+1, n NEH,
a, +2, n AHE
(1) it b, = ay,. il by, by, FRED {b,} HEITAR
(2) 3K {a,} BT 20 HiF,
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i AABC [N A, B, C [ 558 a, b, co B b = ac, 51 D i1 AC L,
BDsin ZABC = asinC,

(1) 1iEBH: BD =b;

(2) # AD =2DC, 3k cos LABC,

BRI {an} T2 a; =1, Apy1 = {

20. (12 %)

WA, £ =k A-BCD vf, EHABD 1 SEHBCD, AB = AD,
O}y BD WHERi.

(1) {#FE#: OA L CD;

(2) 4 AOCD B4R 1 NEN =AY, il E{fité AD I, DE =
2EA, HTHH ) E-BC-D W R/INH 45°, sR=H:HE A-BCD H{FFH.

21. (12 43)

TEPH BT R 20y . DAL B (—V17,0), F(V1T,0), 5 M L [MFy |~ |MFy| = 2.
i M A C.

(1) R C iR

(2) BN T AR @ = o b, T PRSI O F A, B SR P. Q AL I
[TA||TB| = [TP|-[TQ|, REitk AB M TEL PQ HAKZA.
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EREE f(z) = 2(1 —1Inz),

(1) Hit f(o) HAIE:

(2) & a, b AW PAHEIES, Hblna—alnb=a—b, FH: 2< 2—1—% < e,



